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z ~ Cloze Test (10%)
A fundamental human flaw, says John Sterman, impedes action __ 1 global warming.
Sterman is not talking about __ 2, selfishness, or some other __ 3 . He is talking about
a cognitive limitation, “an important and pervasive problem in human reasoning” that he
has documented by testing graduate students at the MIT Sloan School of Management.
Sterman teaches system dynamics, and he says his students, 4 very bright and
schooled in calculus, _5_ an intuitive grasp of simple, crucial system: a bathtub.

(A) in (B) on (C) of (D) at

(A) greed (B) greeds (C) greedy (D) greediness
(A) vicious  (B) vices (C) vises (D) vice

(A) though  (B) who (C) whoever (D) however
(A) lacks (B) lacking  (C) lack (D) lacking of

a b DD

7 -~ Please translate the following English paragraph into Chinese and Chinese paragraph into
English. (40%)

1. Children’s widespread success in acquiring second languages belies a tremendous
subconscious effort devoted to the task. Children exercise a good deal of both
cognitive and affective effort in order to internalize both native and second languages.
The difference between children and adults lies primarily in the contrast between the
child’s spontaneous, peripheral attention to language forms and the adult’s overt,
focal awareness of and attention to those forms. (20%)
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